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A bottle contains 0.65 litres of juice
Lily pours it into 2 glasses that each hold 45 ml.

Which one of the following shows how much juice is
left in the bottle?

0.65 
Litres

45  ml 45  ml

A. 560 ml     B. 90 ml     C. 56 ml     D. 0.5l

What is the area of Salena's square-shaped garden if
she needs 48 meters of fencing to enclose it without

any overlap?

A. 148 sqm                         B. 144sqm   
 

  C. 192sqm                       D. 2304sqm 

After rounding, which of these is greater?
27.58 rounded to 1 decimal place.

27.592 rounded to 2 decimal places.

 A. 27.58                                       B. 27.592   
 

               C. None of them                     D. Both are equal 

26 X __ =  94
What do you need to do in order to figure out the

missing number?

    A. 94 X 26                            B. 94      26   

C. 94 + 26                           D. 94 - 26 
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In below shown snake and ladder board

What is common among the numbers where the
snake's mouth is located?

A. They all are multiples of 3 
B. They all are multiples of 9
C. They all are multiples of 7
D. They all are multiples of 2               

A square of side 1 cm long is cut out from the figure
A as shown in the figure to get figure B. 

"The perimeter of figure B is __________ the perimeter
of figure A."

    A. Less than                    B. Equal to     
C. Greater than              D. Can’t say
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Imagine you are a secret agent on a mission to crack
a code to deactivate a hidden laser system. The

code is based on a special number pattern. 
The number pattern is as follows: 

Each digit of the code must be a composite number,
and the sum of the digits should be equal to 13. 

Your task is to find the correct code to save the day!
Which of the following could be the correct code?

A. 67                               B. 39
C. 94                              D. 75

Which of the following numbers falls between J and K
on the given number line?

A. 335 Kg                                B. 344 Kg 
C. 345 Kg                                D. 347 Kg 

What can you say about the answer to 400 + 500?

       A. It is more than 1000
B. It is less than 1000
C. It is equal to 1000
D. None of the options               
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Imagine you are a master chef in a baking
competition. You need to create a special cake

recipe that includes both fractions and decimals. 
The recipe calls for 3/4 cup of sugar and 0.5 cups of

butter. 
You want to double the recipe to make more cakes

for a party. 

How much sugar and butter will you need for the
doubled recipe?

A. 1.5 cups of sugar and 1 cup of butter
B. 1.25 cups of sugar and 0.75 cups of butter
C. 1.5 cups of sugar and 0.5 cups of butter
D. 1.25 cups of sugar and 1.5 cups of butter

Metali uses the ruler to measure the length of the
rectangle in cm. What is the total length all the way

around the shape?

A. 2 CM                              B. 12CM
  C. 5 CM                              D. 10 CM
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Rosie weighs her dog by first weighing herself and
then weighing herself and her dog together. The

results were 32 kg and 66 kg.
How much does her dog weigh?

  A. 32 Kg                              B. 34 Kg
  C. 36 Kg                              D. 24 Kg

32 KG 66 KG

This table shows the number of ice creams sold over
four days.

How many ice creams in total were sold on the three
busiest days of the week?

   A. 69                                B. 119
  C. 112                               D. 93

Twelve thousands, twelve hundreds and twelve
equal to

A. 12121                             B. 12132
  C. 13212                             D. 121212
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Sarah is organizing a school event and wants to
distribute gift bags to the students. Each gift bag
must contain a certain number of pencils. Sarah

wants to pack the pencils in such a way that each
bag has the maximum number of pencils, and no

pencils are left unpacked. She wants to use prime
numbers for the number of pencils in each bag. If

she has 48 pencils, what is the maximum number of
gift bags she can prepare and how many pencils will

be in each bag?

15

A. 2 bags with 24 pencils each
B. 3 bags with 16 pencils each
C. 12 bags with 4 pencils each
D. 24 bags with 2 pencils each
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--------- End of the question paper ---------
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